o
[N

3 ~ F 5
= S015F :
~0.15 E0.15F - R R B SSRERES
S o F H
° o H
° 01 v O :
0.05 0.05F -+
0 OF - :
-0.05] -0.05F------- :
-0.1 —0.0F------
-0.15 -0.15F -+ #
9_02 9_02; L1 |||! L
3 5 S il § {E SRt | B
@ 2 : @ r
] : et H+
0 -1 - :2 3 O-—1 S
10 1 TPlpOT (PCA t%obeamlinélf) 10 1
== R e e specBres
—— DOM™m Ft:X: nusPU:NEwgePu t:sEecPLesss
—— DOM_mKFit“_XiMinusPU_NEWderault_specPLess4
- =1
g_ 40 .......... IO g_ OC: T
> : : S BOp- i
A : : A C
2 20 R SR % TETTPRUIPE- RPN SHNCI0) SEPRE § SR SURRRRY
g | | s O F
\ 0«-. *i*#*+ v Y e AR A 1 +

[y
TTTTTTTTIT]

+

[ay
o2
I8

1

<op/p. > (70)

Ratio

...........................

[ R I

20000 ool A

[ +

F 4
0.5f=---==" LT

r ¥ 4

N i 4

-

0
107 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


